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Question Id : 68634013466 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :

N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension



Beijing: As China tries to slow its demographic decline . women like Chen Luojin could be part of the
solution. The divorced 33-years-old lives in Chengdu , capital of the southwestern Sichuan provinee, which
legalised registration of children by unmarried women in february ., something China is considering
implementing nationwide to address record low birth rates .

The changes mean unmarried woman can take paid maternity leave and recerve child subsidies previously
only available to married couples . Crucially .Chen could access mvitro fertility (IVF) treatment legally in a
private clinic . She is now 10 weeks pregnant."Becoming a single parent is not for everyone but I am happy
with the decision ."said Chen, who works in logistics ."Equally. getting married or not is for each individual to
decide . We have liberalised the policies here and I know a lot of single women are doing IVE."

Concerned about China's first population drop in six decades and its rapid ageing . the government's political
advisers proposed in March that single and unmarried women should have access to egg freezing and IVF
treatment .But leaders haven't commented publicly on the recommendations.

Liberalising IVF nationwide could unleash more demand for fertility treatment in what is already the world's
biggest market .straining limited fertility services . Some investors in the industry see an opportunity to expand

" If China changes their policy to allow single women to have children .this can result in an increase of IVF
demand ."said Yve Lyppens . director of business development for Asia Pacific at INVO Bioscience .which is
awaiting regulatory approval to launch its IVF technology in China after signing a distribution agreement with
Guangzhou-based Onesky Holdings last year .

Shanghai and the southern Guangdong provinece have also permitted vnmarried women to register their
children but IVF services for single women remain banned

Sub questions

Question Number : 1 Question Id : 68634013467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Leberalising IVF means : -

1. Popularising IVF treatment.

[

. Imposing fresh restrictions on IVF treatment .
3. Removing stingent conditions and allowing access to IVF treament .

4. People who availed IVF treatment to be set free from jail.

Options :

68634053201. 1
68634053202. 2
68634053203. 3
68634053204. 4

Question Number : 2 Question Id : 68634013468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If IVF treatment is legalised as per the passage who would get paid maternity leave and child subsidies

1. Married and unmarried women

| B

. Only unmarried women
3. Only married women

4. Single women who became single parent through IVF treatment

Options :

68634053205. 1
68634053206. 2
68634053207. 3
68634053208. 4

Question Number : 3 Question Id : 68634013469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct statement given is

1. Chengdu is the capital of sichuan province.

| ]

. China has age old policies to allow single woman to have children
3. China is suffering from demographic decline.

4. Chen works in logics company

Options :

68634053209. 1
68634053210. 2
68634053211. 3
68634053212. 4

Question Number : 4 Question Id : 68634013470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word liberal 1s :-

1. berserk

| o)

. bertha
3. bento
4. bigot

Options :

68634053213. 1
68634053214. 2
68634053215. 3
68634053216. 4



Question Number : 5 Question Id : 68634013471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is the Director of Business Development for Asia pacific at INVO bioscience
b

—

. Yev Lypeens

| S

. Yve Lyppens
3. Yiv Lyappen
4. Yve Lyippen

Options :

68634053217. 1
68634053218. 2
68634053219. 3
68634053220. 4

Question Id : 68634013466 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time :
N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Beijing: As China tries to slow its demographic decline . women like Chen Luojin could be part of the
solution. The divorced 33-years-old lives in Chengdu . capital of the southwestern Sichuan provinee. which
legalised registration of children by unmarried women in february ., something China is considering
umplementing nationwide to address record low birth rates .

The changes mean unmarried woman can take paid maternity leave and receive child subsidies previously
only available to married couples . Crucially .Chen could access invitro fertility (IVF) treatment legally in a
private clinic . She 1s now 10 weeks pregnant."Becoming a single parent is not for everyone but I am happy
with the decision ."said Chen, who works in logistics ."Equally, getting married or not is for each individual to
decide . We have liberalised the policies here and I know a lot of single women are doing IVE."

Concerned about China's first population drop in six decades and its rapid ageing . the government's political
advisers proposed in March that single and unmarried women should have access to egg freezing and IVF
treatment .But leaders haven't commented publicly on the recommendations.

Liberalising IVF nationwide could unleash more demand for fertility treatment in what is already the world's
biggest market .straining limited fertility services . Some investors in the industry see an opportunity to expand

" If China changes their policy to allow single women to have children .this can result in an inerease of IVF
demand ."said Yve Lyppens . director of business development for Asia Pacific at INVO Bioscience ,which is
awaiting regulatory approval to launch its IVF technology in China after signing a distribution agreement with
Guangzhou-based Onesky Holdings last year .

Shanghai and the southern Guangdong provinee have also permitted unmarried women to register their
children but IVF services for single women remain banned

Sub questions



Question Number : 1 Question Id : 68634013467 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Leberalising IVF means : -

1. Popularising IVF treatment.

g )

2. Imposing fresh restrictions on IVF treatment .
3. Removing stingent conditions and allowing access to IVF treament .

4. People who availed IVF treatment to be set free from jail.

Options :

68634053201. 1
68634053202. 2
68634053203. 3
68634053204. 4

Question Number : 2 Question Id : 68634013468 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[f IVF treatment is legalised as per the passage who would get paid maternity leave and child subsidies

1. Married and unmarried women

| ]

. Only unmarried women

[F¥]

. Only married women

4. Single women who became single parent through IVF treatment

Options :

68634053205. 1
68634053206. 2
68634053207. 3
68634053208. 4

Question Number : 3 Question Id : 68634013469 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct statement given is

1. Chengdu is the capital of sichuan provinee.

| B

. China has age old policies to allow single woman to have children

Lad

. China 1s suffering from demographic decline.

4. Chen works in logics company

Options :
68634053209. 1
68634053210. 2



68634053211. 3
68634053212. 4

Question Number : 4 Question Id : 68634013470 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the word liberal 1s :-

1. berserk

| B}

. bertha
3. bento
4. bigot

Options :

68634053213. 1
68634053214. 2
68634053215. 3
68634053216. 4

Question Number : S Question Id : 68634013471 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is the Director of Business Development for Asia pacific at INVO bioscience
>

—

. Yev Lypeens

. Yve Lyppens

| S

3. Yiv Lyappen
4. Yve Lyippen

Options :

68634053217. 1
68634053218. 2
68634053219. 3
68634053220. 4

Sub-Section Number : 2
Sub-Section Id : 686340439
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634013472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correctly spelt word from the given options:
1. TIMORIGENIC
2. TUMORIGENIC
3. TOMORGENIC
4. TUMARGENIC

Options :

68634053221. 1
68634053222. 2
68634053223. 3
68634053224. 4

Question Number : 6 Question Id : 68634013472 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:
1. TIMORIGENIC
2. TUMORIGENIC
3. TOMORGENIC
4. TUMARGENIC

Options :

68634053221. 1
68634053222. 2
68634053223. 3
68634053224. 4

Question Number : 7 Question Id : 68634013473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transform the assertive sentence to exclamatory -
The falcon skims the air elegantly.

1. Bravo! The falcon is skimming

| ]

. Wow! The falcon skims
3. The falcon skims elegantly in the air!

4. How elegantly the falcon skims the air!

Options :

68634053225. 1
68634053226. 2
68634053227. 3



68634053228. 4

Question Number : 7 Question Id : 68634013473 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Transform the assertive sentence to exclamatory -
The falcon skims the air elegantly.

1. Bravo! The falcon is skimming

| ]

. Wow! The falcon skims
3. The falcon skims elegantly in the air!

4. How elegantly the falcon skims the air!

Options :

68634053225. 1
68634053226. 2
68634053227. 3
68634053228. 4

Question Number : 8 Question Id : 68634013474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word ' TRANSCEND ' is:

1. Lower

| )

. Climb
3. Cross
4. Energise

Options :

68634053229. 1
68634053230. 2
68634053231. 3
68634053232. 4

Question Number : 8 Question Id : 68634013474 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Synonym of the word ' TRANSCEND ' is:

1. Lower

| B

. Climb
3. Cross

4. Energise

Options :

68634053229. 1
68634053230. 2
68634053231.3
68634053232. 4

Question Number : 9 Question Id : 68634013475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A fully grown male horse kept for breeding' 1s called:

1. Stride

| ]

. Stooge

Lad

. Stable

4, Stallion

Options :

68634053233. 1
68634053234. 2
68634053235. 3
68634053236. 4

Question Number : 9 Question Id : 68634013475 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A fully grown male horse kept for breeding' 1s called:

1. Stride

| ]

. Stooge

Lad

. Stable

4, Stallion

Options :

68634053233. 1
68634053234. 2
68634053235. 3
68634053236. 4



Question Number : 10 Question Id : 68634013476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions.

A high school teacher is to face trail France after setting fire his pupils English exam papers to
protest the state education system.

1. m. of. to

| B}

. in, with. for
3. in. to. at

4. 1. on. before

Options :

68634053237. 1
68634053238. 2
68634053239.3
68634053240. 4

Question Number : 10 Question Id : 68634013476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blanks with appropriate prepositions.

A high school teacher is to face trail France after setting fire his pupils English exam papers to

protest the state education system.

1. m. of. to

| B

. in, with. for
3.1n. to, at

4. in. on. before

Options :

68634053237 1
68634053238. 2
68634053239. 3
68634053240. 4

Question Number : 11 Question Id : 68634013477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of a boy and a girl is 30 years. The ratio of their ages is 5:7. Ages of the boy and girl
respectively:

1. 30 years, 25 years

[ S
| ]
L]
Y}
L1
j<%]
=
ol

's, 35 years
3. 25 years, 40 years
4. 30 years , 42 years

Options :

68634053241. 1
68634053242. 2
68634053243. 3
68634053244. 4

Question Number : 11 Question Id : 68634013477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of a boy and a girl is 30 years. The ratio of their ages 1s 5:7. Ages of the boy and girl
respectively:

1. 30 years, 25 years

| S}
-
N
i
(1]
[=%]
-
i

s, 35 years
3. 25 years, 40 years
4. 30 years . 42 years

Options :

68634053241. 1
68634053242. 2
68634053243.3
68634053244. 4

Question Number : 12 Question Id : 68634013478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An article 18 marked for  200. A shopkeeper earns 25% profit even after allowing ]2%% discount on it. What

is the cost price of the article (in ¥)?

1. 180

| B}

165
3. 140

4.112.50

Options :
68634053245. 1



68634053246. 2
68634053247. 3
68634053248. 4

Question Number : 12 Question Id : 68634013478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: . S : . | . .
An article is marked for  200. A shopkeeper earns 25% profit even after allowing 12 —% discount on it. What
It ! P Elas

1s the cost price of the article (in )?

1. 180

| B

165
3. 140

4.112.50

Options :

68634053245. 1
68634053246. 2
68634053247.3
68634053248. 4

Question Number : 13 Question Id : 68634013479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many years will a sum of ¥ 800 at 10% per annum compounded semi-annually become ¥ 926.10?

1. | — years

1

. | — years

| ]

3.2

|
— years
3

4. 3 years

Options :

68634053249. 1
68634053250. 2
68634053251. 3
68634053252. 4

Question Number : 13 Question Id : 68634013479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In how many years will a sum of Z 800 at 10% per annum compounded semi-annually become ¥ 926.10?

[y

.| — years

| ]

. | — years

2

fears

W | —
.,

4. 3 years

Options :

68634053249. 1
68634053250. 2
68634053251. 3
68634053252. 4

Question Number : 14 Question Id : 68634013480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five men working 8 hours per day take 6 days to do a work. How many days will 12 men take to do the same
work if they work for 10 hours per day?

L3
2

Options :

68634053253. 1
68634053254. 2
68634053255. 3
68634053256. 4

Question Number : 14 Question Id : 68634013480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Five men working 8 hours per day take 6 days to do a work. How many days will 12 men take to do the same
work if they work for 10 hours per day?

L3a
2

Options :

68634053253. 1
68634053254. 2
68634053255. 3
68634053256. 4

Question Number : 15 Question Id : 68634013481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The height of a room 1s 40% of semi-perimeter of the floor. Akshay wanted to put wall paper on the walls of

his room. It cost ¥ 5.200 to put 50 cm wide wall paper at the rate of Z40/m leaving an area of 15 m? for doors
and windows . Height of room (in m) 1s:

1.3.6

| B}

. 3.8
3.4
4.3

Options :

68634053257. 1
68634053258. 2
68634053259. 3
68634053260. 4

Question Number : 15 Question Id : 68634013481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The height of a room is 40% of semi-perimeter of the floor. Akshay wanted to put wall paper on the walls of

his room. It cost ¥ 5.200 to put 50 cm wide wall paper at the rate of 240/m leaving an area of 15 m” for doors
and windows . Height of room (in m) is:

1.3.6

| S

3.8
3.4
4.3

Options :

68634053257. 1
68634053258. 2
68634053259. 3
68634053260. 4

Question Number : 16 Question Id : 68634013482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the water - image of the combination

"96FSH52"

Qo E2H?23
69 EZH2¢
0QEZH?23
69E2HC?

Options :

68634053261. 1
68634053262. 2
68634053263. 3
68634053264. 4

[y

| )

Lad

=Y

Question Number : 16 Question Id : 68634013482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the water - image of the combination

"96FSH52"

Qo EZ2H23
69LE2H?2E
0QEZH?23
+69Ek2HC?

Options :

68634053261. 1
68634053262. 2
68634053263. 3
68634053264. 4

[y

| )

Lad

Question Number : 17 Question Id : 68634013483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the following figure find the number of triangles and squares ?

1. 44 triangles. 10 squares
2. 12 triangles, 14 squares
3. 27 triangles . 6 squares

4. 32 triangles . 12 squares

Options :

68634053265. 1
68634053266. 2
68634053267. 3
68634053268. 4

Question Number : 17 Question Id : 68634013483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the following figure find the number of triangles and squares ?

1. 44 triangles, 10 squares

| )

.12 triangles, 14 squares
3. 27 triangles . 6 squares

4. 32 triangles . 12 squares

Options :

68634053265. 1
68634053266. 2
68634053267. 3
68634053268. 4

Question Number : 18 Question Id : 68634013484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Select the related number from the given alternatives:
DXH :4=8:: MxQ: ?

1. 12x17

| ]

. A3XLT
3. 12x16

4, 14=18

Options :

68634053269. 1
68634053270. 2
68634053271. 3
68634053272. 4

Question Number : 18 Question Id : 68634013484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the related number from the given alternatives:
DXH :4=8:: MxQ: ?

1. 12x17

| )

. 13x17
3, 12x16

4. 14+18

Options :

68634053269. 1
68634053270. 2
68634053271. 3
68634053272. 4

Question Number : 19 Question Id : 68634013485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the given series 9, 15, 23, 33, 45, 59 observe the series 16, (A). (B). (C). (D). (E) and by establishing
the same relation find what will come in place of (D) ?

1. 46

| S

.60

L]

.34

4. 64

Options :

68634053273. 1
68634053274. 2
68634053275.3
68634053276. 4

Question Number : 19 Question Id : 68634013485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per the given series 9, 15, 23, 33, 45, 59 observe the series 16, (A), (B). (C). (D). (E) and by establishing
the same relation find what will come in place of (D) ?

1. 46

2.60

L%

.34
4. 64

Options :
68634053273. 1



68634053274. 2
68634053275. 3
68634053276. 4

Question Number : 20 Question Id : 68634013486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following represents the relationship among factory. machinery and product:

| ]

LIF¥]

Options :

68634053277. 1
68634053278. 2
68634053279. 3
68634053280. 4

Question Number : 20 Question Id : 68634013486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following represents the relationship among factory. machinery and produect:

b

Options :

68634053277. 1
68634053278. 2
68634053279. 3
68634053280. 4

Question Number : 21 Question Id : 68634013487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements which are true about Governor of a state:

A. He 1s appointed by the President for five years.

B. He should be above 45 years of age and should be an Indian citizen .

C. Executive power of the state 1s vested in him.

D. Chief minister and vice Chancellor of state university are appointed by Governor of a state.

1. A. D only

| B

. A, B and D only
3. A. Cand D only

4. A. B and C only

Options :

68634053281. 1
68634053282. 2
68634053283. 3



68634053284. 4

Question Number : 21 Question Id : 68634013487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The statements which are true about Governor of a state:

A. He 1s appointed by the President for five years.

B. He should be above 45 years of age and should be an Indian citizen .

C. Executive power of the state 1s vested in him.

D. Chief minister and vice Chancellor of state university are appointed by Governor of a state.

1. A. D only

| B

. A, BandD only
3.A.CandD only

4. A. B and C only

Options :

68634053281. 1
68634053282. 2
68634053283. 3
68634053284. 4

Question Number : 22 Question Id : 68634013488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Out of the following . which is the highest Indian Literacy award:

1. Inanpith Award

wd

2. Sahitya Academi Award
3. Yuva Puraskar
4. Booker prize

Options :

68634053285. 1
68634053286. 2
68634053287. 3
68634053288. 4

Question Number : 22 Question Id : 68634013488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following . which is the highest Indian Literacy award:

1. Inanpith Award

| B

. Sahitya Academi Award
3. Yuva Puraskar
4. Booker prize

Options :

68634053285. 1
68634053286. 2
68634053287. 3
68634053288. 4

Question Number : 23 Question Id : 68634013489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I Folk Dance LIST II State
A |Chhau dance I. Maharashtra
B. [Lavami 1. [Bihar
C. [Kuchipudi IT1. |Andhra Pradesh
D. |Bidesiva IV JTharkhand

Choose the correct answer from the options given below:

1. A-I. B-1I, C-I11. D-IV

| B}

AT B-IV. C-II. D-III
3. A-IV, B-1. C-III, D-II
4. A-TV. B-1IL C-I, D-II

Options :

68634053289. 1
68634053290. 2
68634053291. 3
68634053292. 4

Question Number : 23 Question Id : 68634013489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I Folk Dance LIST II State
A |Chhau dance I. PMaharashtra
B. [Lavami II. [Bihar
C. [Kuchipudi IT1. |Andhra Pradesh
D. |Bidesiva IV, Jharkhand

Choose the correct answer from the options given below:

1. A-L, B-II, C-III. D-IV

| B

CA-L B-IV. C-I1, D-ITI
3. A-IV. B-1. C-II1. D-II

4. A-TV. B-IIL C-1, D-II

Options :

68634053289. 1
68634053290. 2
68634053291. 3
68634053292. 4

Question Number : 24 Question Id : 68634013490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Recently launched ' Bharat - NCAP ' is related to:

1. Crash safety performance of cars

| S

. Emission test protocols
3. Pollution control norms

4. Green fuel production

Options :

68634053293. 1
68634053294. 2
68634053295. 3
68634053296. 4

Question Number : 24 Question Id : 68634013490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Recently launched ' Bharat - NCAP ' is related to:
1. Crash safety performance of cars
2. Emission test protocols
3. Pollution control norms

4. Green fuel production

Options :

68634053293. 1
68634053294. 2
68634053295. 3
68634053296. 4

Question Number : 25 Question Id : 68634013491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the first Indian to be Miss World ?
1. Aishwarya Rai
2. Reeta Faria
3. Diya Mirza

4, Lara Dutta

Options :

68634053297. 1
68634053298. 2
68634053299. 3
68634053300. 4

Question Number : 25 Question Id : 68634013491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who 1s the first Indian to be Miss World ?
1. Aishwarya Rai
2. Reeta Faria
3. Diya Mirza

4, Lara Dutta

Options :

68634053297. 1
68634053298. 2
68634053299. 3
68634053300. 4



Part B: Indian Knowledge System Bilingual Hindi and English

Section Id : 686340268
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response :  Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340440
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634013492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Vajikaran is vrisachikitsa in Ayurvedangas.
Reason R : Panini is the author of Mahabhagsya.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R is not the correct explanation of A

. A 1s correct but R 1s not correct

L%

4. A 1s not correet but R 1s correct

Options :

68634053301. 1
68634053302. 2
68634053303. 3
68634053304. 4

Question Number : 26 Question Id : 68634013492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Y: HYTGIURKT | U DY (A). fgdid 98 RO (R).
SHYDHYTH A : daIgY aTspRUG gulaidbe Hald|
PRUHR : HIHTIDHR: UI0H: 3|
SUFAPUTEIH a1 31¢: Yedidebedy gt 3w faga-

1. (A). (R) T IHT TTH, (R). (A) ST THIIdI SRHT BRI

| ]

. (A). (R) T IYT FIH, (R). (A) TS FHf=Idi ogRegi - BRI

L]

. (A) 91Y, 93 (R) SHH1Y
4. (A) 31, 9= (R) TIY

Options :

68634053301. 1

68634053302. 2

68634053303. 3
68634053304. 4

Question Number : 27 Question Id : 68634013493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Asan is a part of yoga in Ashtangayogas.
Reason R : According to Patanjalasutra: - T=d FRREE Hddlld|

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R is not the correct explanation of A

L#N]

. A 1s correct but R 1s not correct

4. A 15 not correct but R 1s correct

Options :

68634053305. 1
68634053306. 2
68634053307. 3
68634053308. 4

Question Number : 27 Question Id : 68634013493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Y: HYTGIURKT | U DY (A). fgdid 98 RO (R).
HIUHYTH A : HYIGUIY AU U TRTg Yafd |

BRUM R : T [URYE Yadiid UTrasier |

S AAP UG SATAlb 3¢: Hexiddedy FHHH St fgd-

1. (A). (R) T IHT TTH, (R). (A) ST THIIdI SRHT BRI

| ]

. (A). (R) T IYT FIH, (R). (A) TS FHf=Idi ogRegi - BRI

L]

(A) TTY, TR (R) 3TY
4. (A) 3RTY, TR (R) 1Y

Options :

68634053305. 1
68634053306. 2
68634053307. 3
68634053308. 4

Question Number : 28 Question Id : 68634013494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Kalpa 1s in Vedangas.
Reason R : Yajna's practical part is in Kalpashastra.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is not the correct explanation of A

. A 1s correct but R 1s not correct

LTS

4. A 1s not correet but R 1s correct

Options :

68634053309. 1
68634053310. 2
68634053311. 3
68634053312. 4

Question Number : 28 Question Id : 68634013494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYAEUHRGT | T T HUHYFH (A). fgdd T8 BRI (R).

HIUDYTH A : a5y P HGTHISIET |
DRUMH R : I3 WA i AR fohad dob cu=ea it |
S AAP UG SATAlb 3¢: Hexiddedy FHHH St fgd-

1. (A). (R) T IHT TTH, (R). (A) ST THIIdI SRHT BRI

| ]

. (A). (R) T IYT FIH, (R). (A) TS FHf=Idi ogRegi - BRI

L]

(A) TTY, TR (R) 3TY
4. (A) 3RTY, TR (R) 1Y

Options :

68634053309. 1
68634053310. 2
68634053311. 3
68634053312. 4

Question Number : 29 Question Id : 68634013495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Mahidhara is the author of Vedadeepa.
Reason R : Vedadeepa is the commentry on Samaveda.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is not the correct explanation of A

. A 1s correct but R 1s not correct

LTS

4. A 1s not correet but R 1s correct

Options :

68634053313. 1
68634053314. 2
68634053315. 3
68634053316. 4

Question Number : 29 Question Id : 68634013495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Y: BYTGIURKT | T HUBHYAT (A). fgdid § PRUM (R).
HHDHYTH A : dadIu Bl HeleRIST

DRUH R : daI0%] JHHTIHT |
SUFAPUTEIH a1 31¢: Yedidebedy gt 3w faga-

1. (A). (R) T IHT TTH, (R). (A) ST THIIdI SRHT BRI

| ]

. (A). (R) T IYT FIH, (R). (A) TS FHf=Idi ogRegi - BRI

L]

(A) TTY, TR (R) 3TY
4. (A) 3RTY, TR (R) 1Y

Options :

68634053313. 1
68634053314. 2
68634053315.3
68634053316. 4

Question Number : 30 Question Id : 68634013496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : There are twelve letters in each line of Vanshasth metre.
Reason R : There are thirteen letters in each line of Vazantatilaka metre.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is not the correct explanation of A

. A 1s correct but R 1s not correct

LTS

4. A 1s not correet but R 1s correct

Options :

68634053317. 1
68634053318. 2
68634053319. 3
68634053320. 4

Question Number : 30 Question Id : 68634013496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Y: BYTGIURKT | T HUBHYAT (A). fgdid § PRUM (R).
HHYT A : IR WAlUTE glaaul: yafdl

BRUM R : TIPTS5 AAGRaul: Fafurg yaf|

S AAP UG SATAlb 3¢: Hexiddedy FHHH St fgd-

1. (A). (R) T IHT TTH, (R). (A) ST THIIdI SRHT BRI

| ]

. (A). (R) T IYT FIH, (R). (A) TS FHf=Idi ogRegi - BRI

L]

. (A) 91Y, 93 (R) SHH1Y
4. (A) 31, 9= (R) TIY

Options :

68634053317. 1

68634053318. 2

68634053319. 3
68634053320. 4

Question Number : 31 Question Id : 68634013497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : HJ7[301 1s one of HI&MM in Jain philosophy.
Reason R : Pratyaksh and Anumana are accepted in Buddha philosophy

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

b2

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

68634053321. 1
68634053322. 2
68634053323. 3
68634053324. 4

Question Number : 31 Question Id : 68634013497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3Y: BYTGIURKT | T HUBHYAT (A). fgdid § PRUM (R).

HNHYTH A : ST HI&HEY S RHEAaE 1ol
HRUM R : SIGH TAFHEMNC FH0T60 TG HRd|
SUFAPUTEIH a1 31¢: Yedidebedy gt 3w faga-

1. (A). (R) T IHT TTH, (R). (A) ST THIIdI SRHT BRI

| ]

. (A). (R) T IYT FIH, (R). (A) TS FHf=Idi ogRegi - BRI

L]

. (A) 91Y, 93 (R) SHH1Y
4. (A) 31, 9= (R) TIY

Options :

68634053321. 1

68634053322. 2

68634053323.3
68634053324. 4

Question Number : 32 Question Id : 68634013498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is lebelled as Assertion A and the other is labelled as Reason R.
Assertion A : Vedavyas has composed Ramayan.
Reason R : There are eighteen Mahapuranas in Sanskrit Literature.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A

| ]

. Both A and R are correct but R is not the correct explanation of A

. A 1s correct but R 1s not correct

LTS

4. A 1s not correet but R 1s correct

Options :

68634053325. 1
68634053326. 2
68634053327. 3
68634053328. 4

Question Number : 32 Question Id : 68634013498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3HY: DYTEHKT | THH HMUHYTH (A). fadid TSRO (R).

SHYDHYTH A : IHAURY Fall deoar IS
DRUM R : HPIGHGTYON Haf<i GEpdargd|
S AAP UG SATAlb 3¢: Hexiddedy FHHH St fgd-

1. (A). (R) T IHT TIH, (R). (A) ST THId1 oA BRI

| ]

. (A). (R) T IYT FIH, (R). (A) TS FHf=Idi ogRegi - BRI

L]

(A) TTY, TR (R) 3TY
4. (A) 3RTY, TR (R) 1Y

Options :

68634053325. 1
68634053326. 2
68634053327.3
68634053328. 4

Question Number : 33 Question Id : 68634013499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose series of Maheshwar sutras -

A T3

B. AU
C.U3g

D. SISUFY
E. B¢

Choose the correct answer from the options given below:

1.AC.D.E.B
2C.D.B.AE
3.C,AE.BD
4. C.B,A.DLE

Options :

68634053329. 1

68634053330. 2

68634053331.3
68634053332. 4

Question Number : 33 Question Id : 68634013499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

HIGRARIATN B H f&d-

A TU3fg

B. 0]
C.Ug

D. SIGSUFH
E. BUaRE

SeidD edy FHEHER fHd-
iLACDER
2.C,D.B.A.E
3.CLAE.B.D
4. C.B.A.D.E

Options :

68634053329. 1
68634053330. 2
68634053331. 3
68634053332. 4

Question Number : 34 Question Id : 68634013500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose series in Adhikaranas of Mimansa Philosophy -

A, Visaya

B. Purvapaksha
C. Vishaya

D. Nirnaya

E. Uttarpaksha

Choose the correct answer from the options given below :

1. A,C,B,E.D
2.A,B,D,C,E
3. B, CAE D
4.C.D,E.A.B

Options :

68634053333. 1

68634053334. 2

68634053335.3
68634053336. 4



Question Number : 34 Question Id : 68634013500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @R wd -

&Py SR -
1.A.C.B.E.D
2.A.B.D.C.E
3.B.C.A.E.D
4.C.D.E.A.B

Options :

68634053333. 1
68634053334. 2
68634053335.3
68634053336. 4

Question Number : 35 Question Id : 68634013501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose series of Dashavataras -
A Varahavatara
B. Kurmavatara
C. Vaamanavatara

D. Matsyavatara
E. Nrisinghavatara

Choose the correct answer from the options given below:

LEC.DBEA

J

.E.D,C.,B,A
3.A,D,C.B,E
4.D,B,A.E.C

Options :

68634053337. 1

68634053338. 2
68634053339. 3



68634053340. 4

Question Number : 35 Question Id : 68634013501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRGdRUN hH f=&rd-
A dHlglddle:

B. PHITAR:

C. giHAIddIR:
D. H&HTGdR:
E. JEgEdR:
HEET A a&@g ﬂﬂ ﬁ Fl!iﬁi E%[ﬂﬁ-
1.CCD.B.E A
2Z.EED.C.B. A
3.JA.D.C.B.E
4.D,B.AEC
Options :
68634053337. 1
68634053338. 2

68634053339. 3
68634053340. 4

Question Number : 36 Question Id : 68634013502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the series of Nalshatras -

A. Bharani
B. Rohini
C. Krittika
D. Mrigashira
E. Ashwini
Choose the correct answer from the options given below:
I.LE.B,D.A.C
2Z.EAC.B.D
IADLE B C
4. C.D.B.EA

Options :
68634053341. 1



68634053342. 2
68634053343.3
68634053344. 4

Question Number : 36 Question Id : 68634013502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aFAToT b ford-
A, Hoff
B.R i%ﬂi
C. Pl
D. Hil IR
E. 3f¥aHl

HETAH Y FHEHT -

1.E.B,D A C

[ ]

EACB.D
33A.D.E,B,C
4. C.D.B.E.A

Options :

68634053341. 1
68634053342. 2
68634053343. 3
68634053344. 4

Question Number : 37 Question Id : 68634013503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose series of Pramanas

A. Upamaana
B. Pratyaksha
C. Shabda

D. Anumana
E. Arthapatti

Choose the correct answer from the options given below :

1.B.D.A,C.E

| ]

BLAVETLE

3JA_C.D.E B

4.C.D.B.E. A



Options :

68634053345. 1
68634053346. 2
68634053347. 3
68634053348. 4

Question Number : 37 Question Id : 68634013503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHTONT 6 H fEd-

A. 39HFY
B. W&H
C. Tet:

D. AFAH
E. JUiTf:

SHeUETdD ey FHIHEER -

1.B. DA CE
2B, AC.D,E
3JACDEB
4.C.D.B.E.A

Options :

68634053345. 1
68634053346. 2
68634053347. 3
68634053348. 4

Question Number : 38 Question Id : 68634013504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose series of Tatvas in sankhya Philosophy.

A, Prakniti

B. Panchatanmatras
C. Mahat

D. Ahankara

E. Indriyani

Choose the correct answer from the options given below :
1.B.DLAE.C
22AEB.D.E
3JALCD.B.E

4. C.D.B.A.E

Options :

68634053349. 1
68634053350. 2
68634053351. 3
68634053352. 4

Question Number : 38 Question Id : 68634013504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HHadH $H fd-
A. Uopfd:

B. UAdHMHTL
C. 784

D. 3ESIR:
E. sf=anfor

HERE A aﬁﬁag ﬂﬂ ﬂ HET—R Eaﬂﬁ-

1.BDAEC
2.AE.B.D.E
JACDBE
4. C.D.B.A.E

Options :

68634053349. 1

68634053350. 2

68634053351. 3
68634053352. 4



Question Number : 39 Question Id : 68634013505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose series of Chapters i Srimad bhagwadgeeta :

A. Arjunavishadayoga

B. Samkhyayoga

C. Karmasanyaasayoga

D. Karmayoga

E. Gyaanakarmasanyaas yoga

Choose the correct answer from the options given below :
1.AB.D.E.C
2.A C.D.B.E
3.B.C.AED

4.C.B.A.D.E

Options :

68634053353. 1
68634053354. 2
68634053355. 3
68634053356. 4

Question Number : 39 Question Id : 68634013505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A &iﬂ:ﬂaﬂ[aﬂ-lll:
B. HANT:
C. PHYGRGNT:
D. HHIN:
E. ?IHq?J-Ir{-I'*HIEH*-IHf:
eI aﬁffﬂg o THTR [%{ﬂ(—;

1.AB.D.E.C

[ )

AC.D.B.E
3.B,C,AE.D
4.C.B,A.D.E

Options :

68634053353. 1

68634053354. 2
68634053355. 3



68634053356. 4

Question Number : 40 Question Id : 68634013506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : Palate is the place of pronunciation of Letter X’

Statement II : Throat 1s the place of pronuinciation of letter “H’

In the light of the above statements, choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement [ is true but Statement II is false

4, Statement I is false but Statement II 1s true

Options :

68634053357. 1
68634053358. 2
68634053359. 3
68634053360. 4

Question Number : 40 Question Id : 68634013506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: FUTGIHT:
BUTH : T S JUI TRV a1 &

DY 11 : “§ S qUIY SRV HUBISE |
ST TS YT AT S Fadidbedy THIE-ER (o
1. BYTH I, HYFH 11 9 3HTH T
2. FYFH I, HYTH 11 IHTH ST
3. PYFH [ TOH, TR SUTH 11 STdH
4. HYTH I SEQH, TRg HYUTH 11 §aH
Options :
68634053357. 1
68634053358. 2

68634053359. 3
68634053360. 4



Question Number : 41 Question Id : 68634013507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : Pingala is the author of Jyotishavedanga.
Statement II : There are twenty seven famous constellations in Jyotisha.
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement I are false
3. Statement [ is true but Statement II is false
4. Statement I is false but Statement IT is true
Options :
68634053361. 1
68634053362. 2

68634053363. 3
68634053364. 4

Question Number : 41 Question Id : 68634013507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3HY: HYAEUHGT:
HYTH T : SIS Sl USRS i&T |
DYTH 11 : HIfA=Ie Feafderia-amn ufys gt

IYUFIHUAEE B e HeaidPpedy FHH TR Ha:

1. BYTH L SYTH I I THT I
2. PYTH L HYTH 11 9 IHTH HTH
3. PYTH I IH, U] HYTH I HTTH
4. PYTH 1 ATIH, T PYTH 1 FIH
Options :
68634053361. 1
68634053362. 2

68634053363. 3
68634053364. 4

Question Number : 42 Question Id : 68634013508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I : Mahabharat is the another name of Jayasamhita.
Statement II : There are ten cantos in Ramayana.
In the light of the above statements. choose the correct answer from the options given below :

1. Both Statement I and Statement IT are true

| ]

. Both Statement I and Statement II are false
3, Statement I 1s true but Statement II 1s false

4. Statement [ is false but Statement IT is true

Options :

68634053365. 1
68634053366. 2
68634053367. 3
68634053368. 4

Question Number : 42 Question Id : 68634013508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3HY: HYAEUHGT:
Y 1 : EIURAE AR SORAH Rl |
DYTH I : AU SRHUSTH Fi<|

IYUFIHUAEE B e HeaidPpedy FHH TR Ha:

1. BYTH L HYTH I I IHT I

2. DY I, DY 11 9 SUTH HHAY
3. PYTH I TIH, T PUTH I SRITH
4. PYTH 1 T, W] PYTH 1L IH

Options :

68634053365. 1
68634053366. 2
68634053367. 3
68634053368. 4

Question Number : 43 Question Id : 68634013509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement I : Maharshi Charaka is related to Ayurveda.
Statement II : Kaumarbhrityatantra is related to Ayurveda.
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement [ is true but Statement II 1s false
4, Statement [ is false but Statement II is true
Options :
68634053369. 1
68634053370. 2

68634053371. 3
68634053372. 4

Question Number : 43 Question Id : 68634013509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3¢): DYTGIHGT:
PYTAI: \Hﬂﬁqmi T BT
YT 11 : PIHRYATAERG &1 HEGH |
SRS YTEIE HTellb 3 Heaidmedy FHEHT

1. PYFH I PYUAHII 9 FHYH HdH

2. FYTH I, HYTH 11 9 SHTH SAH
3. PYTH I TAH, TR UAH 11 3RAH
4, BUTH 1 SFAY, TR PUH 1T JH

Options :

68634053369. 1
68634053370. 2
68634053371. 3
68634053372. 4

Question Number : 44 Question Id : 68634013510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Nyaya Philosophy accepts four pramaanas.

Statement IT : ‘I §&° is in Advaitavedanta Philosophy.

In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement 1T is false

4. Statement [ 1s false but Statement II is tiue

Options :

68634053373. 1
68634053374. 2
68634053375. 3
68634053376. 4

Question Number : 44 Question Id : 68634013510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 PYTGYHGT:
BYFH I - AT Fealhe FHOn fae=d |
FYF I : Hgadaraas- T §e Hafd|

S FISYTEIH HIdlb e Hadideedy GH TR =

1. BYTH L, BYFH I T FHT JIH

2. PYTH L BYTH 11 9 IHTH T
3. PYTH I HAH, TR PYTH 1T SRTH
4. PYTH 1 ATIH, WR| PUTH 11 §IH

Options :

68634053373. 1
68634053374. 2
68634053375. 3
68634053376. 4

Question Number : 45 Question Id : 68634013511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement I : Charvaka does not believe in reincarnation.
Statement II : Rishabhdeva is the last teerthankar of Jain Philosophy.
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement [ is true but Statement II is false
4. Statement I 1s false but Statement II is true
Options :
68634053377. 1
68634053378. 2

68634053379. 3
68634053380. 4

Question Number : 45 Question Id : 68634013511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HY: HUTGIHT:

HYUTH 1 : FTdip: TAoHaIG ArgTiBRId |

HYFH 11 : S S<m: dida®e: BYYIars&E|
ST FIS YT TP S Fauidbedy HHE-E (o
1. BYTH L DYTH I I IHT JIHq
2. FYTH I, HYTH 11 9 SHTH SAH
3. PYFH [ TOH, TR HUTH 11 STTH
4, SYTH I SHAH, TRg HUTH I TaH
Options :
68634053377. 1
68634053378. 2

68634053379. 3
68634053380. 4

Question Number : 46 Question Id : 68634013512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement I ;: The mantra “HI Wﬁ{ 3@ Wﬁ'ﬁ[ SR % HI9:" is related to environment.
Statement II : Meemansaka accepts mereculious of Veda.
In the light of the above statements. choose the correct answer from the options given below :
1. Both Statement I and Statement IT are true
2. Both Statement I and Statement I are false
3. Statement [ is true but Statement II is false

4. Statement [ 1s false but Statement IT is true

Options :

68634053381. 1
68634053382. 2
68634053383. 3
68634053384. 4

Question Number : 46 Question Id : 68634013512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3HY: HYAEUHGT:
HYFH 1 : “H HIHIEAIH 3I5de] TIUIaH KNG g A=< 5 Hwa: TaiaR0aGI S|
PYTH 11 : AR IRYId HiHigP: Wifhud |
SUFISYTEIE SHTelb 318 Heaidmedy FHEHT

1. PYTH L SYTH I I IHT T

2. HYFH I YU 11 9 SHTH STTH
3. HYTH 1 TOH, TR YU 11 STTH
4, PYTH I ST, R PUTH 1 TAH

Options :

68634053381. 1
68634053382. 2
68634053383. 3
68634053384. 4

Question Number : 47 Question Id : 68634013513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The followings are in Arthalankara:

A. Utprekshalankara
B. Sandehalankara
C. Yamakalankara
D. Rupakalankara
E. Anuprasalankara

Choose the correct answer from the options given below:
1. A.B.D only
2.B.C.E only
3.A.C.D only

4. C.D.E only

Options :

68634053385. 1
68634053386. 2
68634053387. 3
68634053388. 4

Question Number : 47 Question Id : 68634013513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUTTEHPRY TRIUa-

A. JHATASPR:
B. U-<glIgPR:
C. THPTAGDR:
D. EUBGDR:
E. SFUNNISPR:

e dh ey SR o
1. $aaq A.B.D
2. HauH B, C.E
3. HAAHA.C.D
4. %daHC.D.E

Options :

68634053385. 1
68634053386. 2
68634053387. 3
68634053388. 4



Question Number : 48 Question Id : 68634013514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following are not in Puran Lakshana.
A Sarga
B. Prakriti
C. Vikriti
D. Vansha
E. Purusha
Choose the correct answer from the options given below:
1. A.B.Donly
2.C,D.E only
3.B.C.E only
4.B.D.E only

Options :

68634053389. 1
68634053390. 2
68634053391. 3
68634053392. 4

Question Number : 48 Question Id : 68634013514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QRIUTTIEUY - URIT0G -

A, Tf:
B. UPid:
c. fapfa:

D. T
E. I3
ULy YHHHEW
1.aa A.B.D
2. ®daH C.D.E
3. B9 B. C.E

4. %agH B. D. E

Options :

68634053389. 1
68634053390. 2
68634053391. 3



68634053392. 4

Question Number : 49 Question Id : 68634013515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The followings are in Krishnayajurveda:

A. Katha

B. Maitrayani
C. Madhyandina
D. Kapisthala

E. Shakala

Choose the correct answer from the options given below:
1.C.D.E only
2.B.C.D only
3.A.C.E only
4. A.B. D only

Options :

68634053393. 1
68634053394. 2
68634053395. 3
68634053396. 4

Question Number : 49 Question Id : 68634013515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PRI 3 RIRATY URAU -

A . FE:

B. Tamguft
C. gty
D. BiUFaT

E. TN

SHUEdd ely FHHEHR =
1.%deH C.D.E
2. ®auH B.C.D
3. BAUHA. C.E
4. BIAT A B.D

Options :
68634053393. 1



68634053394. 2
68634053395. 3
68634053396. 4

Question Number : 50 Question Id : 68634013516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The followings are not in Ayurvedanga -

A. Shaktatantra
B. Agadatantra
C. Agamatantra
D. Rasayanatantra
E. Shaivatantra

Choose the correct answer from the options given below:
1. A, C.D only
2.A,C.E only
3.B.D.E only

4.C,D. E only

Options :

68634053397. 1
68634053398. 2
68634053399. 3
68634053400. 4

Question Number : 50 Question Id : 68634013516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIGA TS Y A URITUg-

A. SEaAY
B' \
C' 5

D. JHETaa
E. Yad-ay]

Sfekide edy e
1. A A. C.D

PHATHA.C.E

. $duHB.D.E

4. $deT C.D.E

J

g

Options :

68634053397. 1
68634053398. 2
68634053399. 3
68634053400. 4

Question Number : 51 Question Id : 68634013517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The followings are in Yoganganiyama

A. Ahinsa

B. Satya

C. Tapa

D. Swadhyaya
E. Santosha

Choose the correct answer from the options given below:

1.A. C.Donly

J

.B, D, E only
3.A.C.E only

4.C.D.E only

Options :

68634053401. 1
68634053402. 2
68634053403. 3
68634053404. 4



Question Number : 51 Question Id : 68634013517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A fgan

B. §¥
C. dg:

D. WA
E. =i

D Y FHE R
1.$ddH A, C.D
2. BAAHB. D, E
3. ®dUH A, C.E
4.%daY C.D,E

Options :

68634053401. 1
68634053402. 2
68634053403. 3
68634053404. 4

Question Number : 52 Question Id : 68634013518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The followings are parts of Vaisheshik Philosophy -
A, Dravya
B. Tarka
C. Saamaanya

D. Vaad
E. Samavaaya

Choose the correct answer from the options given below:

1. A.B. C only

-

.A, C,E only
3.C.D.E only
4.B.D.E only

Options :

68634053405. 1

68634053406. 2
68634053407. 3



68634053408. 4

Question Number : 52 Question Id : 68634013518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aRiReTHHauardy uRiuad-

A. SO0
B. 0%

C. JHH
D. dle:

E. §H41T:

YD Y FHEHER o
1. $AdH A, B. C
2. PAAHA.C.E
3. BAAH C.D.E
4. BIAYB.D. E

Options :

68634053405. 1
68634053406. 2
68634053407. 3
68634053408. 4

Question Number : 53 Question Id : 68634013519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The followings are in Vahyaprayatna -
A. Samvritam
B. Vivaara
C. Vivritta
D. Samvaara
E. Shwaasa
Choose the correct answer from the options given below:
1B, €, Donly
2. A,D,.E only
3.B.D.E only

4.B.C.D only

Options :
68634053409. 1



68634053410. 2
68634053411. 3
68634053412. 4

Question Number : 53 Question Id : 68634013519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STEIIEY IR0 -

A. g
B. fadr:
¢. fagay

D. Hqlx:
E. 2dT¥:

AP Ay FHETTIHR R
1.$adH B.C. D
2. BIAHA.D.E
3. B9 B.D. E
4.$daHB.C.D

Options :

68634053409. 1
68634053410. 2
68634053411. 3
68634053412. 4

Question Number : 54 Question Id : 68634013520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

ListI List IT
Sita's Agnipartksha | I |Sundarkanda
A shokvan vidhvansh| II. [Lankakanda
Manthara Kutaniti | I |Aranyakanda
K haradushanasamhar| IV |Avodhvakanda

ofe[w[s

Choose the correct answer from the options given below:

1. A-IIL. B-II. C-I1. D-IV

[

ATV, B-IILL. C-1, D-11

3. A-II, B-1. C-IV. D-III

4. A-IT, B-IV. C-I11, D-I



Options :

68634053413. 1
68634053414. 2
68634053415.3
68634053416. 4

Question Number : 54 Question Id : 68634013520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 98 il 1 IR 94<d Aadd-

Tt 1 A 1
St sFFodan 1L [geemsy
A B aTH| 11 [agdiamusy
ARRT@ I I11. [3RTIHUSH
fRGUURER: | IV [smie@ey

HeEAAd Py YA

ofa[=]>

1. A-II1, B-II. C-1. D-IV
2. ATV, B-II1. C-1. D-II
3. A-IL B-1. C-IV. D-III
4. A-IT. B-IV. C-II1. D-I

Options :

68634053413. 1
68634053414. 2
68634053415. 3
68634053416. 4

Question Number : 55 Question Id : 68634013521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

[ndrivatmavaada I. [Taina

K shanikavigvaanatmavaada) II. |Vedanti
| Anekantavaada 111 |Bouddha

[Nivatavigvaanatmavaada | IV. [Charvaka

ofafw]>

Choose the correct answer from the options given below:
1. A-IV, B-IIL. C-1. D-II
2. AL B-II1, C-1, D-IV
3. A-IV. B-1. C-I1. D-III
4. A-III, B-1. C-IV, D-II

Options :

68634053417. 1
68634053418. 2
68634053419. 3
68634053420. 4

Question Number : 55 Question Id : 68634013521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 98 Yol 11 IRE 9 Tedd-

T 1 T I
HFRIGEIEE L ol
aifUriasHIEde:| 1L [aarl
Sﬁﬁr_rlﬁ]ﬁ': II1. [&lleg:
MdidyHEaG: | IV, [@aie:

HYETdP Y FHEFHTR &

1. A-IV. B-1II. C-I. D-II

ofa[w=]»

2. AL B-IIL, C-1, D-IV
3. A-IV, B-1, C-II. D-III
4. A-III, B-1. C-IV. D-II

Options :

68634053417. 1
68634053418. 2
68634053419. 3
68634053420. 4

Question Number : 56 Question Id : 68634013522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

List I List IT
A |Shankhvasutra [. PMMaharshi Jaimini
B. |Yogasutra II. PMaharshi Kapila
C. |Dwadashalakshany ITT. |Vatsyayana
D. |[Nyavabhasva IV, Maharshi Patanjaly

Choose the correct answer from the options given below:
1. A-IV. B-II, C-I. D-III

2. AL B-1, C-III, D-IV

L

CA-IIL B-IV. C-I1L, D-1
4. A-IL. B-IV, C-I. D-III

Options :

68634053421. 1
68634053422, 2
68634053423. 3
68634053424. 4

Question Number : 56 Question Id : 68634013522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 98 ol 11 IR Fofed dedd-

T I T
BESReRl M CEEEIGIE
A 1. [Feflwiua:
GIeEasl | 1L [T
Oy | 1V [Aefigasata:

SR Y FHEFER

1. A-IV. B-1I. C-1. D-III

ofa[w=]>

2. A-IT, B-1, C-III. D-IV
3. AL B-TV. C-II. D-1I
4. A-IT. B-IV. C-1. D-III

Options :

68634053421. 1
68634053422. 2
68634053423. 3
68634053424. 4



Question Number : 57 Question Id : 68634013523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List IT

List I List IT
A Rigveda 1. |Gandarvaveda
B. [Yajurveda II. |Sthaapatvavedal
C. |Atharvaveda |III |Ayurveda
D. |[Samaveda IV, [Dhanurveda

Choose the correct answer from the options given below:

1. A-II. B-IIL. C-IV, D-II
2. A-IV. B-1I. C-II1. D-1
3. A-III B-IV. C-I1. D-1
4. A-II1. B-1. C-II. D-IV

Options :

68634053425. 1

68634053426. 2

68634053427. 3
68634053428. 4

Question Number : 57 Question Id : 68634013523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

! 1 98 Yl 1 R 9d Jedd-

T 1 T I
A e 1L [T=Ede:
B. [g9dc: 1. [RUdde:
C. [3rudde: 11 [amds:
D. [grHdg: v [egde:

SHUEHdS Y U AT &

1. A-IL. B-IIL. C-IV. D-II
2. A-IV. B-II, C-III, D-I
3. A<IIT, BV, CAIL. D
4. A-ITI, B-I, C-IL, D-IV

Options :

68634053425. 1

68634053426. 2

68634053427. 3
68634053428. 4



Question Number : 58 Question Id : 68634013524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
. |Aries's Lord I |Venus
Taurus's Lord | 1T [Mars
Gemini's Lord | 111 [Sun
. |[Leo's Lord IV. Mercury

o|o|=|e

Choose the correct answer from the options given below:

1. A-TI. B-1. C-IV, D-III

| ]

CA-IL B-IV, C-I11, D-1
3. AL B-1. C-IV. D-I1
4. A-IV, B-1II, C-III, D-I

Options :

68634053429. 1
68634053430. 2
68634053431. 3
68634053432. 4

Question Number : 58 Question Id : 68634013524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 98 Yl 1 R 9d Aedd-

T 1 Tt 11
IR | LR
quE: Wl | I [FE:
(EeRTR): T L. [gE:
g @rfl | 1v [ge:

HTHedy JHH R o

1. A-II. B-1. C-IV. D-III

o|ofw|=

2. AL B-IV, C-111. D-I
3. A-II1. B-1. C-IV. D-II
4. A-IV. B-1I. C-1II. D-1
Options :
68634053429. 1

68634053430. 2
68634053431.3



68634053432. 4

Question Number : 59 Question Id : 68634013525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
[Kavvadarsha 1. |Vishwanatha
Sahitvadarpana| II. [Bharata
Natvashastra | IIL [Banabhatta
K adambari IV |Acharva Dandi

REE

Choose the correct answer from the options given below:

1. A-III. B-II. C-IV. D-1
2. A-IV. B-III. C-II. D-I
3. A-IV, B-L, C-II. D-III
4. A-1. B-IV, C-I11. D-II

Options :

68634053433. 1

68634053434. 2

68634053435.3
68634053436. 4

Question Number : 59 Question Id : 68634013525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=il 1 9€ il 11 IR Fferd dedd-

A T
DIAGR: 1 [faay:
Oifedguu: | I WG

AICTEIREY | 1L [ETonee:
GCARSE] V. |H=heua

HUEAD Y FHE T o

ofa[=]»

1. A-II1. B-II. C-IV. D-I

2. A-IV, B-1I1. C-I1. D-1

3. A-IV. B-I, C-II. D-III

4. A-I B-IV, C-III, D-II
Options :

68634053433. 1
68634053434. 2



68634053435. 3
68634053436. 4

Question Number : 60 Question Id : 68634013526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List IT
Jataabhih tapaasah 1. |Yasva ca bhavena bhavalakshanam
Mashakaava Dhumah 1. |lttham bhutalakshyane

Himalavat Ganga Prabhavat: | IIL [Nivrittau nivartaniyaat
Surya udite Padmamvikashati TV |[Bhuvah Prabhavah

REE

Choose the correct answer from the options given below:

1. A-II. B-I'V. C-I, D-III
2. A-IL B-II. C-IV. D-I
3. A-III. B-IV. C-1. D-II
4. A-IV. B-11. C-1, D-III

Options :

68634053437. 1

68634053438. 2

68634053439. 3
68634053440. 4

Question Number : 60 Question Id : 68634013526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1 98 il 11 iREY gferd dedd-
e e
TqAT 1 T 11

Gt g 1. o5 9 YiEg= Yrag
HRHY 4 1L [ge Ycci&ul

e 1 wHaid| 1 [Fadl Had-a
. [gd 3fed ugi fasgid] 1v. [4a: gHa:

HTTIHedy JHTEHER &

1. A-II. B-IV, C-1. D-III

olo|w|x

2. A-IL, B-II. C-IV. D-I

3. AL B-IV. C-1, D-II

4. A-IV, B-1I., C-1, D-III



Options :

68634053437. 1
68634053438. 2
68634053439. 3
68634053440. 4

Question Number : 61 Question Id : 68634013527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Taittiriyasambhita is related to which veda?
1. Rigveda
2. Yajurveda
3. Samaveda
4. Atharvaveda
Options :
68634053441. 1
68634053442. 2

68634053443.3
68634053444. 4

Question Number : 61 Question Id : 68634013527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~dfRdfedr %0 45 Yald 2
1. Bide
3. gHde™
4. AYdde
Options :
68634053441, 1
68634053442, 2

68634053443. 3
68634053444. 4

]

Question Number : 62 Question Id : 68634013528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Aitareya brahman is related to which veda?

1. Rigveda

[

. Yajurveda
3. Samaveda
4. Atharvaveda
Options :
68634053445. 1
68634053446. 2

68634053447. 3
68634053448. 4

Question Number : 62 Question Id : 68634013528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UOSTeI 3 da¥ Yafd?
1. B1a3H
2. gdes
3. gHdeH™
4. HUddge
Options :
68634053445. 1
68634053446. 2

68634053447. 3
68634053448. 4

Question Number : 63 Question Id : 68634013529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Vimanashastra is bestowed by which Rishi?
1. Kapila
2. Kanada
3. Bhardwaja
4. Agastya
Options :

68634053449. 1
68634053450. 2



68634053451. 3
68634053452. 4

Question Number : 63 Question Id : 68634013529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
farRITe R BRY SaaH add?
1. PIa™

[ ]

RC AU GE)

L

 HRETST
4. ST

Options :

68634053449. 1
68634053450. 2
68634053451. 3
68634053452. 4

Question Number : 64 Question Id : 68634013530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pippaladashakha is related to which veda?

1. Rigveda

12

. Yajurveda
3. Samaveda

4. Atharvaveda

Options :

68634053453. 1
68634053454. 2
68634053455. 3
68634053456. 4

Question Number : 64 Question Id : 68634013530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



OOareREEn: TE=: &4 de 98 faerde
1. BideH

2. g9d e
3. gMdea
4. udded

Options :

68634053453. 1
68634053454. 2
68634053455. 3
68634053456. 4

Question Number : 65 Question Id : 68634013531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yam-Yami dialogue is in which veda?
1. Rigveda
2. Yajurveda
3. Samaveda
4. Atharvaveda
Options :
68634053457. 1
68634053458. 2

68634053459. 3
68634053460. 4

Question Number : 65 Question Id : 68634013531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
quUHdre: B dg UG
1. B7dq
2. 9944
3. gmdg
4. 3Udaq
Options :

68634053457. 1
68634053458. 2



68634053459. 3
68634053460. 4

Question Number : 66 Question Id : 68634013532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one vedanga is praised as the mouth of vedas?
1. Jyotisha
2. Vyakarana
3. Siksha
4. Nirukta

Options :

68634053461. 1
68634053462 2
68634053463. 3
68634053464. 4

Question Number : 66 Question Id : 68634013532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

deri qafifa Hw dargw Tk ada.
1. Hifdssg

[ )

. STHRU
. FRrema:
4. Feaad

&%)

Options :

68634053461. 1
68634053462. 2
68634053463. 3
68634053464. 4

Question Number : 67 Question Id : 68634013533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many letters are there in Gayatri Metre?

b2
i
2

4. 36

Options :

68634053465. 1
68634053466. 2
68634053467. 3
68634053468. 4

Question Number : 67 Question Id : 68634013533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A< S guil: Yaf=ae

2
[
| ]

4. 36

Options :

68634053465. 1
68634053466. 2
68634053467. 3
68634053468. 4

Question Number : 68 Question Id : 68634013534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which one is related with India among Dweepas over earth?

1. Plakshadweepa

J

. Pughkaradweepa
3. Jambudweepa
4, Kraunchadweepa
Options :
68634053469. 1

68634053470. 2
68634053471.3



68634053472. 4

Question Number : 68 Question Id : 68634013534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe faemmy giuy YRaay Garaaf
1. WG
 gshgy
REEs A b
4. Dioag
Options :
68634053469. 1
68634053470. 2

68634053471. 3
68634053472. 4

[ ]

L&)

Question Number : 69 Question Id : 68634013535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yajna 1s the symbol of what in veda?
1. Vishnu
2. Agni
3. Varuna
4. Rudra
Options :
68634053473. 1
68634053474. 2

68634053475. 3
68634053476. 4

Question Number : 69 Question Id : 68634013535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a4y U3 . WY Hald?

1. foao:
2. 3
3. AU
4. 95

Options :

68634053473. 1

68634053474. 2

68634053475. 3
68634053476. 4

Question Number : 70 Question Id : 68634013536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one 1s called as dgﬁwmwsﬁﬁafsm 7

1. Mandukyopanishad
2. Shrimadramayana
3. Mahabharata
4. Brahmasutras

Options :

68634053477. 1

68634053478. 2

68634053479. 3
68634053480. 4

Question Number : 70 Question Id : 68634013536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TgfdufoasHEiEdfa fb Heard?

Options :
68634053477. 1



68634053478. 2
68634053479. 3
68634053480. 4

Question Number : 71 Question Id : 68634013537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which one is not in Puran's feature?
1. Pratisarga
2. Manvantarani
3. Vanshanucharita
4. Bhasya
Options :
68634053481. 1
68634053482. 2

68634053483. 3
68634053484. 4

Question Number : 71 Question Id : 68634013537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1.9 aﬂi 2

§

L¥ ]

4. HTSH
Options :
68634053481. 1
68634053482. 2

68634053483. 3
68634053484. 4

Question Number : 72 Question Id : 68634013538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many Drayas have been accepted in Vaisheshika Philosophy?

1. Nine

[

. Tharty six

3. Five

=

. Twenty four

Options :

68634053485. 1
68634053486. 2
68634053487. 3
68634053488. 4

Question Number : 72 Question Id : 68634013538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[y r [ [ Oy -y

duifN e oid gearfil W Pdll—?

%fﬂ

Options :

68634053485. 1
68634053486. 2
68634053487. 3
68634053488. 4

Question Number : 73 Question Id : 68634013539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The shloka T&1 T4 18 yrfe weiaiafd YRA | sngeMmyte dereF gorgs| |

1s taken from where ?
1. Ramayana
2. Mahabharata
3. Bhagawata
4. Kurmapurana

Options :



68634053489. 1
68634053490. 2
68634053491. 3
68634053492. 4

Question Number : 73 Question Id : 68634013539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Te1 gel fe yde wnfayaf yral
R darer g ||
i wile: Sfem 7 faede
1. JHE0!
2. HeTHRd
3. YATad
1 ot
Options :
68634053489. 1
68634053490. 2

68634053491. 3
68634053492. 4

Question Number : 74 Question Id : 68634013540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sun is exaltion in which zodic of Astrology?
1. Aquarius
2. Libra
3. Scorpio
4. Aries

Options :

68634053493. 1
68634053494. 2
68634053495. 3
68634053496. 4

Question Number : 74 Question Id : 68634013540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W

YRR JUUeH SRR &2
1. PRRI:

ORI

 iHBRI:

4. TIRI:

Options :

68634053493. 1
68634053494. 2
68634053495. 3
68634053496. 4

[ ]

L

Question Number : 75 Question Id : 68634013541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Philosophy accepts Pratyaksh Pramaan only?

1. Charvaka
2. Nyava
3. Vedanta
4. Jaina

Options :

68634053497. 1

68634053498. 2

68634053499. 3
68634053500. 4

Question Number : 75 Question Id : 68634013541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T &Hd U $ gRiAe yafd?
1. AEiE
i pes
. gard¥
4. o9
Options :

68634053497. 1
68634053498. 2

[ ]

L



68634053499. 3
68634053500. 4

Question Number : 76 Question Id : 68634013542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which philosophy has famous devisions as HTHHG-ARTHR-TAIH-JHI S 2

1. Jaina

-]

2. Vaisheshika
3. Bauddha

4. Vedanta

Options :

68634053501. 1
68634053502. 2
68634053503. 3
68634053504. 4

Question Number : 76 Question Id : 68634013542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

HidHl

ER-GATaE-dHNS 36T URial: I2SEn: 62

)

[ ]

4.

Options :

68634053501. 1
68634053502. 2
68634053503. 3
68634053504. 4

Question Number : 77 Question Id : 68634013543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who accepts the theory of Saptabhanginaya?

1. Bauddhas

| ]

. Jainas

L]

. Natyayikas
4. Mimansakas

Options :

68634053505. 1
68634053506. 2
68634053507. 3
68634053508. 4

Question Number : 77 Question Id : 68634013543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Trayfgare O & Wigd?

1. slgr:

T

aTeT:
4, HIHHST:

Options :

68634053505. 1

68634053506. 2

68634053507. 3
68634053508. 4

[ ]

L

Question Number : 78 Question Id : 68634013544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is THURYTE0M 2
1. Vyakarana
2. Nyaya
3. Tarka

4, Hetwabhasa

Options :
68634053509. 1
68634053510. 2



68634053511. 3
68634053512. 4

Question Number : 78 Question Id : 68634013544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHTURYT ] fb wafc?

1. HIPIUH

%

[ ]

. =T:
L
4. BAIH:

Options :

68634053509. 1
68634053510. 2
68634053511. 3
68634053512. 4

LFS]

Question Number : 79 Question Id : 68634013545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“\Hﬁﬂ_ﬁr:" 1s related to which philosophy?

1. Vedanta

[ )

. Mimansa
3. Nyaya
4. Panini Philosophy

Options :

68634053513. 1
68634053514. 2
68634053515.3
68634053516. 4

Question Number : 79 Question Id : 68634013545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



«31eurg: gfq oy g i
1. GeTdeg™
 Hiararesia
3. graea™
4. gifoIHgeaw
Options :
68634053513. 1
68634053514. 2

68634053515.3
68634053516. 4

2

Question Number : 80 Question Id : 68634013546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How 1s the ‘Wf in Sankhya Philosophy?

1. Prakritivikriti
2. Vikriti
3. Avikriti
4. Ubhayaatmikaa

Options :

68634053517. 1

68634053518. 2

68634053519. 3
68634053520. 4

Question Number : 80 Question Id : 68634013546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A “Haubid: S Hafd?
1. Uepidiaeid:
2. fafa:
3. 3fapic:
4, FHATEDT

Options :
68634053517. 1



68634053518. 2
68634053519. 3
68634053520. 4

Question Number : 81 Question Id : 68634013547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who are IqaI®alGT: Philosphers?
1. Vaisheshikas
2. Vaiyakaranas
3. Naiyayikas
4. Sankhyas
Options :
68634053521. 1
68634053522. 2

68634053523. 3
68634053524. 4

Question Number : 81 Question Id : 68634013547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
iU aria: SIS 62
1. aRfeT:
qYTHRT:
OIS

4. -

[ ]

¥

Options :

68634053521. 1
68634053522. 2
68634053523. 3
68634053524. 4

Question Number : 82 Question Id : 68634013548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one 1s not in Maheshwar sutra?

1. 31530]

2. gEUy
3.8
4. 4

Options :

68634053525. 1
68634053526. 2
68634053527. 3
68634053528. 4

Question Number : 82 Question Id : 68634013548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OIeRARYAY 3¢ AraHald|
1. 3S3T[

g
4

%

Options :

68634053525. 1
68634053526. 2
68634053527. 3
68634053528. 4

Question Number : 83 Question Id : 68634013549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Panini's sutra Jed™-AWT shows

1. Swarna

| ]

. Suwarna
3. Savarna
4. Sauvarnya

Options :
68634053529. 1



68634053530. 2
68634053531. 3
68634053532. 4

Question Number : 83 Question Id : 68634013549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR ‘Jearayded & vafd?
1. iR
2. gauin
3. auig
4. Hiqudg

Options :

68634053529. 1
68634053530. 2
68634053531. 3
68634053532. 4

Question Number : 84 Question Id : 68634013550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘@U-UH’ sutra is from which chapter of Ashtadhyayi?

1. From first chapter
2. From second chapter
3. From third chapter
4. From fourth chapter

Options :

68634053533. 1

68634053534. 2

68634053535. 3
68634053536. 4

Question Number : 84 Question Id : 68634013550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BT Tid YA HTTAMT: DT R UId?

1. JUHTATY
2. fgdigram
3. gdrare
4. Iquiem

Options :

68634053533. 1

68634053534. 2

68634053535. 3
68634053536. 4

Question Number : 85 Question Id : 68634013551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Satvik puran is -
1. Vishnu purana
2. Shiva purana
3. Skanda purana
4. Bhavisya purana
Options :
68634053537. 1
68634053538. 2

68634053539. 3
68634053540. 4

Question Number : 85 Question Id : 68634013551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g< PRI TRTsd |
1. fasorgRIoR
2. TRragRTom
3. TR
4. HiqwIgRIUH

Options :
68634053537. 1



68634053538. 2
68634053539. 3
68634053540. 4

Question Number : 86 Question Id : 68634013552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
To whom did Shukdeva tell the shrimadbhagvat purana?
1. Janameyaya
2. Parikshita
3. Takshaka

4. Ajamila

Options :

68634053541. 1
68634053542. 2
68634053543. 3
68634053544. 4

Question Number : 86 Question Id : 68634013552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SIRGITadURIv 4IR[@ad e 3Ugp?
1. S
2. Tiiférd
3, d&hly
4. HSTITE

Options :

68634053541. 1
68634053542. 2
68634053543.3
68634053544. 4

Question Number : 87 Question Id : 68634013553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Whom does the sentence “SIHP P WIdl qdHHUd M of Ramayan indicate ?

1. To Urmila

| B

. To Sita
3. To Nilaa
4. To Balatibalaa

Options :

68634053545. 1
68634053546. 2
68634053547. 3
68634053548. 4

Question Number : 87 Question Id : 68634013553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FAHR Pl SlIdl qaurd HiEar gia ImrvEe o gEaiie

1. S HdH

3. ey
4. SNdEg

Options :

68634053545. 1
68634053546. 2
68634053547. 3
68634053548. 4

Question Number : 88 Question Id : 68634013554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wi 1s the 3 qaa: of which veda?

1. Rigveda

rJ

. Yajurveda
3. Atharvada
4. Samaveda
Options :

68634053549. 1
68634053550. 2



68634053551. 3
68634053552. 4

Question Number : 88 Question Id : 68634013554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hgde: $ I 3Udg?
1. Fideq

2. godas
3. 3Ydded
4. grdes]

Options :

68634053549. 1
68634053550. 2
68634053551. 3
68634053552. 4

Question Number : 89 Question Id : 68634013555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Rishi Charaka which 1s known as Q[Fﬂlqaf‘ifﬁ?

1. Shalakyatantra

|

. Shalyatantra
3. Agadatantra
4. Nigadatantra

Options :

68634053553. 1
68634053554. 2
68634053555. 3
68634053556. 4

Question Number : 89 Question Id : 68634013555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R H YeUgqHead e aigl Yafd?

1. AT d-dH

§§

Options :

68634053553. 1
68634053554. 2
68634053555. 3
68634053556. 4

Question Number : 90 Question Id : 68634013556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FauIf T is the another name of which Aywrvedanga?

1. Rasayanatantra

| S

. Kaumarabhrityatantra
3. Vajikaranatantra
4. Agadatantra

Options :

68634053557. 1
68634053558. 2
68634053559. 3
68634053560. 4

Question Number : 90 Question Id : 68634013556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[

Hgdars Y [Aul=iese He AHRA T

1. THAAdE™

| ]

 DPERYITEE

3, gl Ud-ad
4. GdaH

Options :
68634053557. 1



68634053558. 2
68634053559. 3
68634053560. 4

Question Number : 91 Question Id : 68634013557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the author of G’Wﬁ?ﬂ{ ?
1. Kalidas
2. Bhasa
3. Bhavabhuti

4. Kshemendra

Options :

68634053561. 1
68634053562. 2
68634053563. 3
68634053564. 4

Question Number : 91 Question Id : 68634013557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[ o e

FAREARG B Pid: faerd?
1. DI
2. Y

3. HAYT:
4. G5

Options :

68634053561. 1
68634053562. 2
68634053563. 3
68634053564. 4

Question Number : 92 Question Id : 68634013558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



This 1s known as TTEYEIHD P -
1. Drishyakavya
2. Shravyakavya
3. Kathakavya
4. Champukavya

Options :

68634053565. 1
68634053566. 2
68634053567. 3
68634053568. 4

Question Number : 92 Question Id : 68634013558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. ERYPIAH

2. HdhogH

Y

3. PUBITH

4. JHRIOH

Options :

68634053565. 1
68634053566. 2
68634053567. 3
68634053568. 4

Question Number : 93 Question Id : 68634013559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

This 1s not counted in S{W -
1. Ananvayalankara
2. Rupakalankara
3. Chitraalankara
4. Samasoktyalankara
Options :

68634053569. 1
68634053570. 2



68634053571. 3
68634053572. 4

Question Number : 93 Question Id : 68634013559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JufageRY 7 giad -
1, -GG HR:
2. FUBASPR:

W

3, [TAIdH R

4. SH G g PIxR:

Options :

68634053569. 1
68634053570. 2
68634053571. 3
68634053572. 4

Question Number : 94 Question Id : 68634013560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many letters are in each line of sragdhara metre?

1. Nineteen

2. Twenty one

L%

. Seventeen

=

. Twenty two

Options :

68634053573. 1
68634053574. 2
68634053575. 3
68634053576. 4

Question Number : 94 Question Id : 68634013560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ARG -G T Wiaure Sid HERIT Haf=i?

1.3 aEé ia
2. Upidgrfa:
3.9t
4. g[ 32 E?[

Options :

68634053573. 1

68634053574. 2

68634053575. 3
68634053576. 4

Question Number : 95 Question Id : 68634013561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who is the father of vedavyasa?

1. Harita

| ]

. Shaunaka
3. Kapila
4. Parashara

Options :

68634053577. 1
68634053578. 2
68634053579. 3
68634053580. 4

Question Number : 95 Question Id : 68634013561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
deouTay fug: e fee
1. BIR:
2. Y
3. iU
4. OE:
Options :

68634053577. 1
68634053578. 2



68634053579. 3
68634053580. 4

Question Number : 96 Question Id : 68634013562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many chapters are there in Srimadbhagavata?

[
Lad
h
Lhn

4. 235

Options :

68634053581.
68634053582.
68634053583.
68634053584.

AW N~

Question Number : 96 Question Id : 68634013562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

diagurTad Sid s g

1. 265

[ )
L]
o
L

4. 235

Options :

68634053581.
68634053582.
68634053583.
68634053584.

B NV S

Question Number : 97 Question Id : 68634013563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“hqyg: qi%m g Mﬂ epi]| a d™ this environment related mantra is found in which veda?

1. Rigveda

[ )

. Yajurveda
3. Samaveda
4. Atharvaveda
Options :
68634053585. 1
68634053586. 2

68634053587. 3
68634053588. 4

Question Number : 97 Question Id : 68634013563 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“1y: gient ug Sifey udl e sanisuaiaRuaEs: T S 9g Wad?
1. G
3. gHdg
4. 3Yddq
Options :
68634053585. 1
68634053586. 2

68634053587. 3
68634053588. 4

]

Question Number : 98 Question Id : 68634013564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“oflgy? 6 udiRg q Hi?i H YY" this mantra is related to which science?

1. Environmental science

[ ]

. Geology
3. Agricultural science
4. Zoology

Options :

68634053589. 1
68634053590. 2



68634053591. 3
68634053592. 4

Question Number : 98 Question Id : 68634013564 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“QTgTe UdRad YRITH SR S e B fagw siye! Hafd?
1. JOTaRuIaqg

Options :

68634053589. 1
68634053590. 2
68634053591. 3
68634053592. 4

Question Number : 99 Question Id : 68634013565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who accepts 30 ERE

1. Mimansaka

2. Advaitavedanti
3. Naiyayika

4. Charvaka

Options :

68634053593. 1
68634053594. 2
68634053595.3
68634053596. 4

Question Number : 99 Question Id : 68634013565 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oW o & Wieifa?
1. B
arfie:
4. Taid:
Options :
68634053593. 1
68634053594. 2

68634053595. 3
68634053596. 4

[ ]

LFS]

Question Number : 100 Question Id : 68634013566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ghﬁ Sutra reflects -

1. Nipatasanjna

[ )

. Pragrihyasanjna
3. Prakritibhavasanjna
4. Plutasanjna

Options :

68634053597. 1

68634053598. 2

68634053599. 3
68634053600. 4

Question Number : 100 Question Id : 68634013566 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. fFraTem
2. WATRIER
3. Wb ldHTaEs
4, FHF

Options :
68634053597. 1



68634053598. 2
68634053599. 3
68634053600. 4



